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= cor (d9%xx, do%yy) = cor(d10%xx, di0%yy) :E a:clr"(dllhx, d11$yy)
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H - X : 100,000
x2 <- rnorm(100000, mean=>5, sd=5) s

y2 <- rnorm(100000, mean=5, sd=0.1)
d10 <- data.frame( xx=x2[floor( runif(100, 1, 100000+1) )],
yy=y2[floor( runif(100, 1, 100000+1) )] )
d10$yy <- 0.1 * d10$xx + d10$yy
library(ggplot2)
ggplot(d10, aes(x=xx)) +
geom_point( aes(y=yy), size=3) + xlim(-5, 15) + ylim(-5, 15) +
theme _bw()
cor(d10$xx, d10$yy) 10
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X2 <- rnorm(100000, mean=5, sd=5)
y2 <- rnorm(100000, mean=5, sd=0.1)
d11 <- data.frame( xx=x2[floor( runif(100, 1, 100000+1) )],

yy=y2[floor( runif(100, 1, 100000+1) )] )
d11$yy <- 0.4 * d11$xx + d11$yy BT —4IC,
library(ggplot2) IEDOBEREREFZRZEEIZED

ggplot(d1l, aes(x=xx)) +
geom_point( aes(y=yy), size=3) + xlim(-5, 15) + ylim(-5, 15) +
theme _bw()

cor(d11$xx, d11$yy)
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> cor (di2%xx, di2%yy)
[1] -0.02723688
=

16
10+ -
¢ . . ’... oty .
. o, e etEe, . 5'. b
o H LA .
zs e 3. s ¢
o, Ve - e
:. .y .8 - ". .
. o
.
0 .
5
5 0 5 10 15
XX

= cor(dl3$xx, di3%yy)
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